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4.1 Derivatives of
Inverse trigonometric Functions

Standard

MCDIE
:
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010 Implicit Differentiation & Chain Rule
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henf Inverse Trigonometric Function Derivatives

. The inverse trig functions are sihtx
,
wstx

,
tantx

.

pkasenokif these do not mean ¥n× , at ,±n,
these are

reciprocal functions like csx , sex & ootx
.

^ Inverse Trig Functions are inverses of each trig functions .

For example ) sintx means
' ' inverse sine

" where sink is the
angle whose sine is x

.

sintx B Sinn'¥xI5
.

f= sin ' 1x
.

Let's consider y= sintx
.

Derive the derivate
.

y= sin '1X
So

, sing = ×
.

Then if we And the derivative :
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,

then
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Now
, state & cost  

= FEI
1

Therefore y '=÷€
•

or

Let's consider y= tantx
.
Derive the derivative

.

y= tantx
So

, tang = x
.

Now
,
take the denvatre :

Seay . y
'

= 1

y
'

= 1£
y

since y= tart 's T
'

=  Eitan
.

Let t= tantx
. Badcgwnnlntrmatm⇒ MY Identities

Sinxtcotx -1Then tant  = × 1+tan2x=Seu↳
So since 1 thank Seix

,

y
'
= Itttant

Furthermore
, since tan't- ÷the
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Denvahiesoflmersetrigfundimsadxsintx
=t÷p out cos "x=j¥e

hxltantx = ,±y ND Chain Rule on the "
x

"

.

[Examples]
�1� fk ) = sin

' '
( x4

f 'H=±#a.

2×
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�2� ddxarcsin(3×2)=1*27 .9÷
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= 1¥MT
Homework page 170
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. Also derive the derivative of y= cos
' 'x

.


